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- Which /s of L
spectrum is/are used in remote sensing?
(A)0.03 - 0.2 nanometer
(B) 0.4 - 0.7 micrometer
(C) 0.1 - 30.7 centimeter
(D) 8 - 14 micrometer
Code -
(1) (B),(C)and (D) () (A)and (B)
(3) Only (B) (4) (A)and (D)
(5) Question not attempted
+ Choose the correct statements - z,
(A) Punjab and Haryana are traditional rice
growing areas,
(B) In Himalayan Highlands, wheat is a rainfed

crop. .
(C) Teaplantation started in India in the decade

of 1840.
Code -
(1) (A), (B)and(C) (2 (A)and (B)
3) (B)and (C) @) (A)and (C)

(5) Question not auempted

In which of the following hill ramge is 3

“Doddabetta peak™ situated?
(1) Anamalai (2) Nallamala
(3) Nilgiri (4) Cardamom

(5) Question not attempted

In Thomthwaite’s 1948 Climatic Classification, %
Potential Evapotranspiration (PET) is calculated

from -

(1) Mean monthly temperature

(2) Mean annual temperature

(3) Mean maximum monthly temperature

(4) Mean monthly precipitation

(5) Question not attempted

Who was the propounder of Hill Slope Cycle  5-
theory?

(1) A.Young (2) W.M. Davis

(3) L.C.King (4) W. Penck

(5) Question not attempted

‘When was the first National Population Policyof ~ 6.
India formed?

(1) Year 1972 (2) Year 1976
(3) Year 1984 (4) Year 2000
(5) Question not attempted

TR W ¥ g g e A A
e @ wgar e o 8 /87
(A)0.03 - 0.2 #sinfiex

(B) 0.4 - 0.7 wrgmrirex

(©) 0.1 - 30.7 Frirer

(D) 8 - 14 FgERR

wT

() (). (C) 3R (D)

@) 3 (B)

(8) argafta wet

w Tt @ gfi —

(A)mmtﬁamumﬁmmm

[

®) M, ftwr o wemfl A b awRa

wHa §1

© :?*ﬂmmﬁwlMO*W
I

@ (A) 3R (B)
@ (A) 3R (D)

1) (A),B) W(C) (@ (A)TE(B)
©) (8)TE (C) ) (A TE(C)
(8) sgaRa w&
wer Prefafea W @R wda
sjaen # feam 27
) ar=mrerg (2) e
) Hrafra @) e
8) srgafa we
i @ 1948 B Srerry TtERET # T
ar AT (PET) TR A S & —

(1) afrva =it g &
(2) s afifs arem &
(3) afwa sfream mfts o= ¥

(4) s =t wdor &

(8) argafRa wer

M © T (2) seq 3fw
@) va i ) sy, &=
(8) srgeia we

ARG B AW TS wAwE R ww =
i o7

o @192 @ W ) 1976
(3 w7 (=) 1984 (4 W (7) 2000
(8) srgefia v
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* Maximum area of district Bharatpur and Alwar

7 AR @ s R w aRwin wm fm
wwaut et ® we R 87
(1) 600-700 frefifrer
) 800 frefrieR & st
@ 600 Prefrfier & w5 |

lies between which isohytes?
(1) 600 -700 mm

(2) More than 800 mm

(3) Less than 600 mm

(4) 700 - 800 mm

(4) 700 - 800 Rrfrdrex

(8) Question not attempted (5) ;:ﬂﬁ:m;n
Match the following and select the correct 8 Frfafea @1 gifa DRm w99 Ry 1o
answer from the code given below - e A Wl IW W aw Hferg —

Mining Area Minerals T A afr
(A) Akwaliand Satkui (i) Fluorite (A) sl ofk wagd (i) e
(B) Rampura-Agucha (i) Gold (B) IMgT—TTET (i) W
(C) Jagpura-Bhukia * (iii) Limestone (C) TIq—sifar (iii) STFTRA
g ::;:mum (iv) Copper (D) #iSY @ gret (iv) ofar

ariya (v) Lead-Zinc

adg la-Loh: g fmr—ahmﬂm (v) w—aear

(1) (A)-Gii), (B)-(iii), (C)-G), D)iv), E)-(v)
@) (A)-(iv), (B)-(v), (C)-Gii), (D)), (B)-(iii)
) (A)-(ii). (B)-(i), (C)-(ii), D)(v), B)-(iv)
) (AX), (B)-Gv), (C)id), (D)-(ii), (E)-(v)

) (A)-(i), (B)-(iii), (C)-(D), (D)iv), (B
@ (A-(iv), (B)-(v), (C)-(ii), (D)(i), (E)iii)
@) (AX(iii). (B)-(i). (C)-(ii), (D}(v), (B)-(iv)
) (A0, (B)(iv), (CH-(iii). (DHii). (B)-(v)

(5) Question not attempted (8 srgeita e

Given below are two stalements, one is labelled & 1 3 T Ry E B wE A) R

as Asscrtion (A) and the other as Reason (R). TR B IR (R) S w9 ¥ ok o @

Assertion (A): - Anomaly is found between mm:qmtmmamgmu;w
geographical and magnetic freinia
north of the Earth, mﬁﬁ mivmﬁf !

Reason (R):  Variation is found in halalll ) il w3
magnetism of igneous rocks of | e F Frean o o ¢
different period. TR et 3, P o o o wd

In the above context, which onc of the following ¥ 87

is comrect? e

M (A) e & afFE Ry 21

@ B (A) T R) W B W (R), (A) B
WA @ #)

@) (A)wH & afs R) e 8

@) 2 (A) T R) W & A (R), (A) B
Wl w8

(8) el w=

(1) (A) s false but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) arc true but (R) is not the
correct explanation of (A).

(5) Question not attempted
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10. Arrange  the llowing ~ approach in
chronological order and choose the comect
oplion using the code given below -

(A) Areal difTerentiation

(B) Spatial organisation

(C) Exploration and description
(D) Regional analysis

Code -

(1) (D) - (C)-(B)-(A)

) (B)-(C)-(D)-(A)

@) (€©)-D)-(A)-(B)

@) (A)-(B)-(C)-(D)

(5) Question not anempted

1. According to the Rajasthan Forest Report
2023-24, the descending order of the districts of
Rajasthan in terms of total forest arca of year
2021 assessment are -

(1) Pratapgarh — Udaipur - Alwar — Baran
{2) Udaipur — Alwar — Pratapgarh — Baran
(3) Pratapgarh — Udaipur — Baran — Alwar
(4) Udaipur — Pratapgarh — Baran — Alwar
(5) Question not attempted
12 The first master plan was prepared for which city

10, frafafan SuEl @ wE@A_ B SFTER
arafeer T 3k Ary R Y e @ W REE

= -
(1) (D)-(C)- (B) - (A)
@ (B)-(C)- (D) - (A)
@) (©)-(D)-(A)-(B)
@) (A)-(B)-(C)- (D)
(5) srgaRa we
1. g &9 WiREE 2023-24 B NIER, {9
i a9 &= 2021 A gfe A oRUE
B Rl &1 a0 B9 & —
() waTTg — ST — IER — AR
(2) TR — FAAR — FATTG — AW
(3) WAYTg — SEAQR — WRI — HAW
(4) SEAR — WAqTg — TN — HATR
) srgala v

12. yRa 3 wem AR @ e TR @ g &R

5. In upper air, inversion of temperature of trade
winds are generally associated with -
(1) Warm cyclones of tropical and sub-tropical
regions
(2) Warm anti-cyclones of tropical regions
() Downward movement of Jet streams in
tropical regions
(4) Movement of cold air on warm air
(5) Question not attempted
16. Balaghat producing belt is sil din
which of the following states of India?
(1) Chhattisgarh (2) Odisha
() Madhya Pradesh ~ (4) Jharkhand
(%) Question not attempted
17- Who among the following supported Stand-Still
Theory of coral reef formation with emphasis on
change in sea level?
(1) Murray (2) Daly
(3) Oliver (4) Darwin
(5) Question not artempted
18. Which of the following is correct of

mountain peaks of Aravalli in descending order
of height?

15. gud arg A, @RS gaE B A GenAvl
HERET: T3 B & —
mgwrmw‘rwmm‘ &t & it wmaral

@) swr pfeafa &El & mf wRremael |
) vo1 Ffeady &El i o ol @ AR @
ErER]

) T FERl B TR I TERl B TE R
8) argafa v

8. Framare Frirer SerE vt awa @ Pt
# 9 frw g A R #2
[UR:555:ur (2) sifem
@) g wdn (4) srars

(8) arpofter wer
8. frefafaa 3 9 ormaeh oda @ Wil @

Furd @ R wé vew wh & —

in India? R Tar? (1) Raghunathgarh, Nagpani, Hrishikest
;?) n:m (2) Mumbai ) frh (2) ek Tamgarh 3 A ) ¥gFEmRrTg, ArTar), wRdy, armre
(%) Chennai ) Kolkata :,7"1:_- (3 u=d (8) Frern @ sm’m R Taragarh 2) by, TS, ARETE, AT
{5) Question not attempted Al 5) arafta wer Rl -
13. Which of the following rivers is not a tributary 13- Pr=ifafem & & et a7 @ weras @ @ e Taragarh, R @) Fefdw, aRET, TS, T
of Banas? e &7 (%) Raghunathgarh, Hrishikesh, Taragarh ) YgRrTg, Ffidy, aRnrE, AT
(1) Kothari 2 Moren 1) wrard @) = Nagpani
(3) Berach 4) Morel Q) 3w ) e (8) Question not attempted ® e s
(5) Question not attempled (5) srgafta v 8. Who wrote the book, “Mainsprings of 19 “afiire e Riftegser e
4. Which onc of the following pairs is comrectly 14 Fy=ffir 3 ot 7= wé it #7 Civilization™ Joabm 4 v oy : WS B
matched? Riard wRar) (forem) () Ritter (2) Humboldt ) Rex (@) FrI=
(Irrigation Project (District) (a) 3@ - W (3) Huntington (@) Ratzel (3 #fmes 4) e
(a) Reva - Pratapgarh (b) =BT - i (8) Question not attempted (9) argafRa wer .
(b) Lhasi -\ Baran (0) wrard e — 20. The correct gl i
i - group of States of India situated nmnaﬁmmwehmm;qm
(c) Folai Lift Thalavar (d) wrefdie fowe — e along the Intemational border of Myanmar is -
d) Kaliteer Lift - Dholpur 49 g W WEEA | W S W Nasaland Tl i it @ Tl T W WY & -
( ine the code given N HE (1) Nag Tripura, pur and .
Select the correct answer using givi g g — (2) Assam, A Pradesh, Nagaland and ) Armdvs, figw, sPR @ fe
'(’:‘3':_’ e - VA Manipur @) ¥, ST wd, RS W g
) (@), (b) and (©) (2) (b) and () (U] h),;:_:aﬂ'\' (c) g: (blx (<) ) &_z 1 Pradesh, Nagaland, Manipur and @) srpvITae W, AMETS, AR @
¥ (3 (b {d) a b! izoram
() (b) and (d) (::)l (a) and (b) ® (b) Rer wET (a) (b) (3) Meéghalaya, Manipur, Tripura and A @) Yarey, R, Prgwr v am
(5) Question not aucmpt (5) Question not attempted ) sgela we
32.% Page 4of 32 32-% Page S of 32
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2. Von Thunen's Agricultural Location Theory is -

2. A7 o @ PR sl frgia & -

21. ‘Mahogany trees” are found in which of the o ©
i ? N
i 2L apalesis () fom 1 ) Empirical and Normative ) SR T AT
gro (@) i T (2) Indeterminists and Mechanics (2) sfreerrard) e Tifys

(2) Mountainous forest

(3) Tropical evergreen forest
(4) Tropical deciduous forest
(5) Question not attempted

(&) srgafa s

2 ox & g, Pt 3 & W sk

(3) Deterministic and Normative
() Idealist and Indeterminist
(5) Question not attempted

(3) Fremeard @ Aria
) et T sifrrgward)
(8) argafta o

22. Which among the following races are having | ; ,
cep":-lic index more than 755; per Taylor? 75 W afe R yaws wad 8 27. Which of the following is not associated with the  27. Pt 4 ; N
((BA)J :: rd’il‘; (A m"“ science rules fixed by the 'Vienna Circle’ Prerife s O
(C) Anﬁnloid :2: sterETs scientists? . w3 !

(D) Alpine (1) There should be a compulsory testing of Fewvem 1 haw aPwri =¥ 9.
Select the correct answer from the code given (D) sreare= Pt ing of a
el S Hr Ry Ty g A oW o e DR - hypothesis, - ,
Dode.~ o (2) Facts are b; irical evidence. @) Wt
(1) (A)and (D) (@ (A). (B)and (D) M) (A) e (D) (2) (), (B) T (D) ) Koowledge .houw’ i ﬂﬁwﬂw ¥ Wi B )
(3) (C) and (B) (#) (B), (C)and (D) @) (c) e (8) (4 (8), () & (D) metaphysics @) w7 i ¥ ga e iy
Questi 5) argafia we -
2. :’)hichofu‘:??:u@p'l'ﬂ" ofRajasthanhad 23 Frfeiftrd % & 202223 ¥ W @ B (9) Knowledge must be value free. @) S 3 g O ARy
Rt 1 W FRmR wR @ Seeeal ddifts (5) Question not anempted (8) srgafta wer

the highest per hectarc production of Jowar in o
tzit:zzn;?? o st i @ et 2. According to Census 2011, the states with 28 SO 2011 & FAR, AT X BHE =R
(3) Chitworgarh @ Karauli ® Prfgre @ TR itimum and maximum population density i «d i SIS TR R W € —
(5) Question ot attcmpted o q ) saRa we India respectively are - ) sreoTae Wi T B
nel 24, Rt gl Wl O - (1) Arunachal Pradesh and Kerala .
(2) Jvomaa Wi v fiER

24. The *Baroque style’ was related with -

(2) Arunachal Pradesh and Bihar

(1) Urban planning in Medi P () wergefial R Rt A R P .
Cities. e (9 Mizoram and West Bengal @ Psiier od wR ame
@ Agicaliural 5 in (@ wergha gy Rl T oEf A
Agricu ystem 7 & e 7 e A R {4) Nagalund and Maharashia (8) =TS d wETr
@) ém system in Ancient Nile Valley P N S A i (8) Question not attempted : (8) srgafta v
(4) Urban planning in Ancient Nile Valley € ’ mmc“":‘sh‘“. :‘:::““G ";‘ ‘k:‘k while passing 9. $ :mwmsugq A TS Al
Cities. or Gulf is known as - . @ S Al & —
5 ucasion nik absinghid 5. el O e 2 () TidalRange  (2) Tidal Volume ,’7:‘3 M wrda ¥ @ st s
25. As per Von Thunen's theory, the profit of a 25 g e @ fhgld & agan, S:ﬁ"’*“”‘ ;‘ (3) Tidal Bulge (4) Tidal Race e 3) wrg SR (@) sarda A
fln:nn;rusd;pcnds upon which of the following am f=fafen § 9 = a8 w® T &7 (5) Question not attempicd ®
Varianes . , (A) T o1 R = qaRa g
((;)) g:;l;nui&:c;gcummo&u (B) Seurest @ @RI 30 The midterm objective of National Population  30- JTfrq SrrereaT Y 20003 weaareia g &
on o ot zg::i:m @l @ Policy 2000 is to bring Total Fertility Rate ITHR, Fel T X (T.F.R.) B &d Wi
D) Labour F.R)) to the repl ]
é:l,ecl the correct answer from the code given 41 fag T FE ¥ W SR agh A - (1“; 5 l::h‘ijldrcn“::uv::::l level of :'R m&agﬁ;ll;?m
Fargon: o= - ; . n 21
Code - (1) Baa (A)UT(C) (2 Faet (B) @1 (C) (2) 1.8 children per woman @ 1.8 foryy wfy wien
(1) Only (A)and (C) (2) Only (B)and (C) 4) 3 i
@ (A).(B). Crand ) (A). (B) and (C) B8 CAL 0D () e A B s e e Wy o 2. oy o e
(e (4) 2.0 children per woman @) 2.0 faryg wfay wfger
(5) Question not atiempted (8) srgaRa wei (5) Question not attempted (8) it we
1. Page 6 of 32 32-% Page 70f 32 i
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31. Which among the following are the demerits of

3. v § gRa wify @ Pt B

Green Revolution in India? i #7

(A) Inter-crop imbalances o] (A) IRR-wE Smjm
(B) Regional isparities s (B) & R

(C) Unemployment (C) Rt

(D) Increase in interpersonal inequalitics
Sclect the cormrect answer from the code given
below -
Code -
1) (A).(B).(C)and (D) (2 (A), (B) and (D)
(3) Only (A)and (B) (4) (A),(B) and (C)
(5) Question not attempted

32. Which one of the following is a characteristic of

igneous rocks?
(1) Exfoliation (2) Crystalline
) Fossils (4) Layers

(5) Question not attempted

3. Height of a tripod stand in Planc Table Survey
is -
(1) Approx. 1.25 meters

(2) Approx. 1.50 meters

(3) Approx. 1.75 meters

(4) Approx. 2.00 meters

(5) Question not attempted

3. Calculate the Standard Deviation for the
following values and select the correct answer =

01, 03, 05, 07,09

() 238 ) 2.03

() 283 @) 253

(5) Question not attempted

35. Consider the following statements and select the
carrect answer from the code given below -

(A) In mountainous region, winds move upslope
during day time.

(B) Water in sea gets heated by sun rapidly than
adjacent land.

(C) Downward movement of wind in
mountainous region is known as ‘Valley
Breeze’.

Code -

(1) (A). (B) and (C) are correct

@_
(1) (A), (B), (C) T (D) (2) (A),(B)TuT(D)
@) FFFA)TN(B) (@) (A),(B)TT(C)
() argafia we
32 g wpE & Feaffaa § A B 0@
fanwen adh W 27
() Fymeres (2) TR
) Srarem (4) ot
8) safa we
3. wim e whm i B @ @ dard & -
(1) =i 1,25 Arex
(2) @ 1.50 Arex
(3) w175 Hiex
9 &mi 2,00 Hrex
(5) srqafa v
3. freifda AT @ fow wEe fgem @1 e
FINAY T3 WEl 9N @ 90 iy —
01, 03, 05, 07,09
(1) 2.38
) 2.83
(5) srqafa v
35. Ayfafia HaAl W Rar S quar G Ry
M FE F WE TR G T BIAY
(A) v &3 % R @ w9 e SR 9 R
T H & -
(8)wE w1 wiil T gRT U Fidead aEi
) arden wfy oof <t e &
(cwifhne’ra’f#qﬁahﬁﬂaﬁma%w
urel Wi wEd €

-

@ 2.03
T4 253

ﬁ?
(1) (A), (8) T (C) et & \

(2) Only (B)is correct (2) Faer (8)wEr &

(3) (A)and (B) are correct (3) (A)rer (B) ud) &

(4) Only (A)is comrect ) @ (A) WA R

(5) Question not attempted (5) argafta ww
Page 8 of 32
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36. Which of the fol
Main Field of Sty
(1) S.M. Ali -
(2) R.N. Dube

lowing (Indian Geographer -

dy) is not correctly matched?

Historical Geography

¥ ~ Economic and Commercial
Geography

(3) George Kurian - = Geomorphology

(4) 8.P. Chauterjee - Physiographic

(8) Question not altcr]:;lg;:nmmon st

Sura Ghat is a_ .(A)_locatedin _(B) .

(1) (A)-plateau, (B)-Southern Aravalli

(2) (A)-peak, (B)-Central Aravalli

(3) (A)-pass, (B)-Central Aravalli

(4) (A)-pass, (B)-North Eastern Aravalli

(8) Question not attempted

38. According to Malthus, which of the following
factor is/are responsible for population control?
(A) Postponement of marriage
(B) Antificial means of family planning
(C) Natural disasters
(D) War and famine
Code -

(1) (A), (C)and (D) (2) Only(A)
3) (A)and (B) (#) (A), (B), ( C)lﬂd(D)
(5) Question not attempted

ar

YU ER 0F | _(A)

3. P ¥ A s i e —

FA & W &) gt T &7

() T e — YR i

) 3R, g3 - affE @ afias e
@) it TR — ol R

#) Tad. vl - wra @ Pfe wRdiEE
(5) agaRa w1

(B)_ % smafiem

A |
2

(1) (A)-weR, (B)-=Rri ammeh
(@) (A)-Rrm, (8- R
@) (a)-avl, (B)-ea armweh

@) (Ap-g, (B)-SR-gdi aeR

39 Which onc of the following statement is not 39 fFy=fariaa % o\ FuT wé 78 27

comect?

(1) Madri dam was constructed in second phase
of Dewas project.

(2) Dewas project has emerged as the lifeline of
Udaipur.

(3) Gorana dam was constructed in first phase of
Dewas project.

{4) Chandlai dam was constructed in third phase
of Dewas project.

{5) Question not attempted

TR
'\

(8) srgafa w1

8. fefafe # @ aE/9 WoUE @ STER
SerEn frsm @ o soved oe ¢ /87
(A) Rarg wrm
(B)uRar Frdom & M arm
(C) vrpfirs smerd
D) 3E W@ Fa@wl
R_
) (A), (C)R(D) @ Faa (A)
@ (AR (B) @ (A),(B).(C)3R (D)
(5) gafia v
(1) Zaw R @ fdn o F A dg

o1 Ffor fsan

(2 2ara aRdror SeaqR A e @ e
TR
(3) o uftdT 3 s W § TR ak
&1 fmfor Rear man
229 o aRar @ g A vearE an
&1 ftor R man |

(5) arpaRa we

40. The “red face” of the Green Revolution refers 40 R wifsr w1 o qadter wgffa & —

1o -

(1) increase in violence in rural arcas
(2) increase in production of wheat
(3) excessive use of pesticides

(4) the problem of salinity in the soil
(5) Question not attempted

() wrir & § R & weawdi # of &,
(2) I & Serea A afFr |/

() FreAras & e W ¥

(@) +ifs ¥ FEvRn o wEw ¥

8) srgafe we

32-%
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41, Match List- with List-II and sclect the comrect

the code given below -
e Lt
(Book) (Author)
(A) Cosmos (i) Fleur
(B) Erdkunde (i) Ritter
(C) Volkerkunde (iii) Ratzel
(D) Corridors of Time (iv) Humboldt

Code -
1) (A)(iv), (B)-(i), (C)-ii), (D)ii)
@) (AXGi), B)-Gv), (C)-Giii), (D))
3) (A)Giv). (B)<ii), (C)-(). (D)-(iii)
@) (A)-Giv). (B)-{ii), (C)-iii), DHI)
(5) Question not attempted
42. Which among the following river is most

polluted?
(1) Godavari (2) Brahmaputra
(3) Satlyj (%) Yamuna

(%) Question not attempted
43. Which among the following statement is correct
fing i ¥?

m Duriig A. Pran's survey, the mvitglioml
deflection between Kaliana and Kalianpur
was below 10 seconds.

(2) Prant postulated that ‘Bigger the Column,

ot 1 E-n A R AR o A

Ry g gz A wh I BT "“:“ "
-1 -
() (qa)

(A) Biel| ﬁ)‘Wi‘

(B) s¥qm8 (i) Rz

© (i) Yeo T

(D) WIS offw g (W) T

:1:: (A)-iv), (B)-(i), (C)-(iii), (D)-(ii)
@ (A)(ii), (B)-(iv), (C)-iii), (D)-(i)
(3) (A, (B)-(ii), (C)-(i), (D))
(@) (A)(iv), (B)-(ii), (C)-iid), (D)-(1)

e v
a&maamwmmﬁ
(1) T @ worga
() wage &) =g
(5) agafa v

. y_3iger /wiftafy @ wof A Prafafea § 9
T T Wl 27
My e & wlm @ A s w
whamgy 3 @ et A R
10 ¥dvE | T il
2) e fmren o B w1 Re w9

45. Which of the following is not correctly matched?
(1) Erosional Landform formed by wind -
Yardang

(2) Depositional Landform formed by Glacier -
Kame

(3) Depositional Landform formed by wind -
Insclberg
(4 Erosional Landform formed by Glacier -
Nunatak

(5) Question not attempted

48. Simple linear arrangement of dots from right
lower comer (o the left upper comer in a scatter
diagram indicates -
{1) Negative Corrclation
(2) Perfect Correlation

. (3) No Correlation

(4) Limited Positive Correlation
(8) Question not attempted

47. Which of the following group of places of United
States of America is known for private ship
building and repairing Industry?
(1) Virginia, Connecticut and Mississippi
(2) Atlanta, Iowa and Maine
(3) Wyoming, Utah and New York
{4) Oregon, Montana and Florida
(5) Question not attempted

5. Prefafer # A T it T #7
() a7 g1 Pffa sReoe —ampfa —
RS
@ feorh g Piffa Rafa gl — @9
Q) wm g Pt P g-omgfr -
Faicey]
) Rarht zm1 Fiffa swases g-agh -
TS
(8) sgofia v
4. (5 wher I A AN Fred o1 W S A
C oW ae figyl B W Waw w3
T & —
(1) FomeTE W
2) gom ey
Q) = wEa T
@) ¥ifr oo TEEE
) srgaRa s
47. digm Ivu Wer @ Frefafaa § @ fea
el w1 wE P &3 % o Pt o
o 9T @ fog W w82
(1) =i, Tfese aur Rfafsh
(2) geaier, smaman e ¥
(3) =i, e o wpfal
(4) 3, Hier @ veftar
(5) srgafta wer

Greater the Density". , e e i N | Lo E

(3) Prant’s theory :y-a: based on Law of mgnmmzhmﬂﬁﬂﬂmml “‘-W.Nﬁ_hlmonglhefollowmgnno(mmed 48. fyafafa § ¥ @ TR @ i A A
Floatation. @ fe B wkw B ORF ofwE W md;mﬂucncna_ruorchy? wHafim T8 22

(4) During A. Pratt's survey, the gravitational 3 @ Tewwdn A N (1) Central Business  (2) Umland ) 3w Tuis (@) rivs
“Dws_ jone, and Kalisogor *mm g 2 sfvw ) District (CBD) Rrar (CBD)
was above 10 seconds. P (3) Urban Hinterland  (4) City Region Q) T gEwRT () TR W

(5) Question not attempted 5) ﬂﬂﬂﬂﬂﬂ N ¥ " 40 (5) Question not attempted (5) argafta wer

4. Which among the following islare/ comrectly 44 PR A e/ 5_'3"&%“' . “Human Geography is the stdy of changing  48. " st AR Yot af fasardier =T

matched? - TS S AT lationship b ing man and unstabl @ wRadehe st o1 e 217 08 e
Theory of - Prop =1 Rgia PN Earth." Who said this? fowa #7
of Umland (A) sFafivan Hisa — S . (1) Ratzel (2) Miss Semple £ (1) teda @ 7 W

o ;;‘Mug — :’{.gcc:rnev)c’xsc "..‘:. T zﬁg mﬁm . ;”;,f’ i {3) Ritter (4) Taylor 8 R @) Ter

B) Law of Retai vitation - . el (C) AT - .

:C;Bmkingl’uiutm:y - Reilly -~ A Ry T B W WU TN GE TR B 8 Qumm n:_x attempted 18) arafta W _

Select the correct answer using code given que AT — 80. While calculating Human Development Index,  50. Wra R JEHIT B T W WA, TS

below - : oz - weightage given to its different dimensions is - faf=r st @ wfter & ey & —

2

Code - 0 (A @®TIC) @ B) aa(C) 0.2 @3 2 @1

OrAx oy o0 inCunt o @ P (A) @ (A)ern (C) ® 1 @ i o 1 @1
Only (A) 3 2 2

g Quuylion not attempied &) argoRa wer {5) Question not attempted (5) srgafta wem
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51. “The table of nature is laid for a limited number
of guests and those who come uninvited must
starve.” Who gave this stalement related to
population growth?
(1) Thomas Robert

Malthus
(3) Thomas Sadler (4 Henry George
(5) Question not attempted
52. Work related to entertainment and services is
known as -
(1) Secondary Occupation
(2) Quatemary Occupation
(3) Primary Occupation
(4) Tertiary Occupation
(5) Question not attempted
53. Who has considered boundarics as “Political

(2) Thomas Doubleday

Isobar lines™?
(1) A.E. Moodie (2) 3. Ancel
(¥ Lord Curzon (4) F.Ratzel

(5) Question not attempted

$4. Which among the following countries has the
highest iron ore (crude) reserve in year 2022 as
per US Geological Survey Report 20247
1) Russia 2) India
3) Australia (4) Brazil
(5) Question not attempted

55. According to Thomthwaite's, which climate
docs the shaded area in the given map represent?

.

(1) EAd @) DA'wW
) DB'w 4) CA'w
(5) Question not attempted

56. “The isolated regional cconomy gave binthtothe 56 "q@TaT £rA spfarawen SPR & € 71 o= ¥

Genre de vie.” This statement was given by -

81, “pfa o A < e & s B R
6 ah gl ¢ ot o e ger e T
S srava qEn wen gy e 3k A
wafoa gw wee fer 87
() ifra Wfad meem (2) b SAE8
() wta fiser [OR Srl
5) sgafia v

52, wetio e Aanl W waka w1 B A

(5) srafia W
53, famr Smwit @ xoEfs R e @
WA WA 7

(URE 8] (2 . =
Q) =t s @) vE. Yeud
(5) argefa we

54 wgma T (@R it wdww R
2024 H AR T 2022 § Frfafaa # @ 54
2 ¥ iE sEn (@) S ARwa HeR 8

M w1 (2) s
(3 aifeferm @) arfe
(5) arpafa wea
55. offfude @ aqEr, Ry M arfE § eril
& fra s+ wefifa @var 8?2
(1 EAd (2) DA'w
(3) DB'w (4) CA'w

21" g% Tue f2ar a1 -

(1) Humboldt 2) Blache (1) g (2) @y
(3) Ritter (4) Hanshome @) frex (4) gredint
(5) Question not atiempted (8) argafa e
32.% Page 12 of 32
1
4

57. Which among the following isfare the 57. oA e @/ Freafafaa § D

fundamental argument/s of the Behavioural

Geography?

(A) People have environmental images in their
mi

(B) Those images can be identified accurately
by researchers.

(C) There  is no relationship between
environmental images and the decision-
making process of man,

Select the correct answer from the code given

below -

Code -

(1) (B) and (C) are correct

(2) (A) and (C) are correct

(3) (A) and (B) are correct

(4) Only (A) is correct

(5) Question not attempted

58. Match List-I with List-II and select the correct

answer from the code given below -
List-1 List-Il
(Regional Trade (Member
Group) Country)

(A) ASEAN (i)  Azerbaijan

(B) C.LS. (ii)  Brunei

(C) NAFTA (i) Peru

(D) LAIA (iv) US.A.

Code -

(1) (A)-(iv), (B)-(iiid), (C)-(i), (D)-{ii)
@) (A)(D), B)-(i), (C)-(iii), D)-Giv)
@) (A)(iii), (B)-(iv), (C)Hii), (D))
) (A)(ii), B, (C)-(iv), (D)-(iii)
5) Question not attempted

59. Halocline zone is related to -
(1) Air pressure (2) Salinity
(3) Temperature (4) Density
(5) Question not attempted

60. Consider the following statements -
(A) Both Loamy and Clay soil types are found in

it

(B) This soil has the ability to hold moisture for

Ferr /R e T 887

(A) @f¥eral & wr ¥ armeia sfif 8@k
21

() ¥ el B gt g oRyga 3
JEGFT W1 8

(C) anmacia wfifiat @ @la @ fofa a9
& uftar F w8 g &)

A Ry g 2 A 9 R W e R —

() (B) 7w (C) 6 &

@) (AT (C)wét &

(3) (A) w1 (B) T &

(@) daa (A) w2
() gafta uw=
58. g1 B 11 ¥ gifea difog aen iy
oy M 52 wﬁmmmﬂfgv—
i | HE-11
(s E)  (vee g
(A) sfear (i) IS /
(B) A3y, (i)
(C) AT (iiiy
(D) @rgan (iv) gE T
. & (US.A)
T~

(1) (A)-(iv), (B)-(iii). (C)-(i). (D)-(if)
@) (A)(i). (B)-(ii). (C)-(iii). (D)-(iv)
3) (A)-(iii), (B)iv), (C)-(ii), (D)-(i)
@) (A)-(ii), (B)-(i). (C)(iv), (D)-(iii)

(8) srgafia we

- FeITATE ISH o vay & —

() arg T | (@) s |
@) T | (@ o |
(5) srgafa v

- Prefaftra sl w e @i —

(A)gﬂﬁﬁmaa\lﬁzﬁﬁmaﬁmm
!
(B)ﬂwwmmmmm

along time. o &rrn (1]

(C) This soil is found in Bhilwara, Ajmer, Sirohi (€) T8 war Hearg, e, RRd Rl o
districts. Pl &)

On the basis of above statements identify the IUHE FUA B WHR R IERAE B g B

type of soil in Rajasthan - WHR qAZY —

(1 Alluvial Soil (2) Red-Yellow Soil (1) e g @) se-drelr a1

(3) Medium Black Soil (4) Red-Loam Soil (@) W TR (@) FE-arh 59

(5) Question not attempted (5) argafRa ww
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61. Who among the following Scholar clearly 61 fywifyftra 3 @ Ry fgm A G e B

described the “Great Highway from Susa to
Sardis™ of the Persian Empire in his book?
(1) Eratosthenes (2) Hecatacus
(3) Anaximander (8) Herodotus
(5) Question not attempted

62. The following climate diagram of Winnipeg city
represents -

Rainfall (inch)
GesZE8682
(4,) aimesadway

3
R un
1
- IFMANM] IASUND
MONTHS
(1) Middle-Latitude Desert Climate
(2) Low-Latitude Steppe Climate ;.'-i;,E
(3) Middle-Latitude Steppe Climate  Emal
(4) Mecditerrancan Climate
(5) Question not attempted
63. As per Koppen's Climatic Classification, mid-
latitude wet and dry climate with cold winter has

been symbolized by -
(1) Cw @ cr
(3 Df @) Dw

(5) Question not attempted
©4. Which among the following pressure belts have

been formed due to dynamic and thermal factors
respectively?
(1) Polar high and sub-tropical high
(2) Sub-tropical high and polar high
(3) Equatorial low and polar high
{4) Sub-polar low and sub-tropical high
(5) Question not attempted

65. From Mackinder's book, which Geographer took

" R WA @ @ A QT T Te

W W T el e 3 R
) g¥err (2) wfema
3) wIiiER @) FeH
) gafia v
. Ry wee @ Pl e o geim
&—
3 *3
E
. T
1
L

JFMAMI JASOND

) wen—mifa wewdn S9Tg
(@) Fr=—annfi @@ Searg

(3) Fem—Feriviy R Faay

(9) sprg—wrTE Seayg

(8) srafta W

. T @ WeErg afiE @ IR, o8 AWa

WY D W W sl il w Y

Sy @ fa e & gwian T 87
) Cw @ cr

(3) Df (4) Dw

(8) srgafa o

. Prefafua 3 A R gar afed) o fsfor s

i T A SR@ W g &7

() ydra S= aun SuwrEdhy =
(2) SRy s v ydtg v=
() prEmEE = gdn 9=

(4) Suydla = aun S g
(5) IraRa y&

- Afdvet B gra@ A 5 a3 gea &
ferar?

the word ‘Heartland'? we [
(1) Karl Haushofer  (2) James Fairgrieve (1) @ret oy @) =1 g
(3) RudolfKjellen  (4) AT.Mahan (3) wSIw I (4) TA Em
(5) Question not attempted (5) areaIRa W
12.% Page 14 0 32
e, ;

68. Which of the following surfaces has Albeda
belaw 20 percent?
(1) Dry earth and grass
(2) Old snow and thick cloud
(3)° Fresh snow and thin cloud

66. RreifRen & A frw waw o1 fegsT 20 wRm
A 9 gar &7
() = 4 @@ ura
(2) ger fém @ e wEe
(3) aron fRm ¢ fave w=mw

(4) Wet earth and forest (4) == wfy @@ a7
(5) Question not attempted (8) srafa v
87. The term *Swidden agriculture” is related to - 67. “Rad P v w1 W & -

(1) Livestock farming (1) gyurers R &

(2) Shifting agriculture (2) zerraeTiE $f

(3) Plantation agriculture von (3) TR R R

(4) Mixed farming agriculture ik () Rifte B

(8) Question not attempted (5) rgafa ww

88. Among the following which district have density
of population less than 100 in 2011 Census in

Rajasthan?
(1) Churu (2) Pali
(3) Barmer (4) Jodhpur

(5) Question not attempted
68. Which of the following are the subject maticr of
Positivism Geography?
(A) This is also called empiricism.
(B) It is the antithesis of idealism.
(C) It was founded by Auguste Comte.

(D) It opposes authoritarianism.
Code - /
(1) (B)and (C) @) (A), (B), (C) and (D)

() (A)and (C) (4) (B), (C)and (D)
(5) Question not attempted
70. Ideal condition/s for radiation temperature
inversion during night is/are -
(A) Clear sky
(B) Cold dry air
(C) Windy night
Select the correct answer from the code given
below - ;

68 qorear # 2011 F WO 3 AR, B
4 9 5w e &1 Seen 99 100 |
#

o) g6 (@ areh
(3) TR ) e
(5) apafta g%
8. frfefan 4 & @FW vmaR e B
ey &
(A) T IPEAE i TE A )
(B) U amaviarg 1 favnd 2
(C) THAH! W S B 3 & oY)
(D) ¥ FRFAIHarE &1 s owan 81
) (B)3R(C) @ (A), (B).(C)¥R(D)
@) () siR(©) @ B), (©)sR([D)
(5) srpaia v
0. 3if3 w1 ¥ Rfvwor awE e A ared
feafiy axt 2 /8 —
(A) B 3T
(B) 3 =5 g
(C) a1 =@ aTeh T

4 e o oaE 4 w9 Rew @ ow
g —

Code - e -

(1) Only (C) is comect () @& (C)wé &

(2) (B) and (C) are correct (2) (B) e (C) Wt &

(3) Only (A)is correct () B (A)EH &

(#) (A) and (B) are correct 4) (A)rm (8) W &

(5) Question not attempted (8) srefRa v
32.% Page 15 0f 32
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. Which of the following theory/model is based on
Geomorphic threshold and pl P
concept?

(1) Dynamic Equilibrium theory
(2) Episodic Erosion theory

(3) Composite model

(4) Tectonic -Geomorphic model
{5) Question not attempted

72. National Technical Textile Mission is associated

with -

(A) Agrotech

(B) Sportstech

(C) Infotech

(D) Meditech

Select the correct answer from the code given

below -

Code -

(1) (A), (B) and (C) only

(2) (B) and (C) only
E-‘tgm (A), (B) and (D) only

53Z19) (A) and (D) only

(5) Question not attempted

73. Who said, “The use of soil for house and roads
is unproductive™?

(1) E.C. Semple {2) Jear Brunhes
(3) Vidal de La Blache (4) F. Ratzel
(5) Question not attempted

74. Which one of the following is correct sequence
of Lakes in Rajasthan from North to South?

(1) Foy Sagar - Mandal Tal - Gaib Sagar —
Fatch Sagar

(2) Gaib Sagar — Fatch Sagar -~ Mandal Tal -

. ﬁqmmwmmwmﬂlﬂ*
;ﬁﬂﬁraaﬁamﬂmﬂ‘ﬂ
?
) wfs w=gem feam
(2) wswifers swe Rigia
(3) wfam sfza
() fagda gl Afea
(5) argafta v
2. ey T T P e e 87
(A) TURT
(B) WIEHT
) Forew
D) ¥R
A1 R 1y 7 W w6 S @1 T A -
F_
(1) 37 (A), (B) W@ (C)
@) @3 (B) W@ (C)
(3) 74 (A), (B) W@ (D)
() 37 (A) W& (D)
(5) srgefa we
7. f5e o, “wem ok weel @ fog B @
[T &7
) €0 Waw (2 ¥F Tew
) few § @ @) 7. o
(5) srgaRa v
74. fyefafe § v B et @ 9 A
=Ry e A W w7 P &7
(1) Pfa AR — Aiew o — 17 WR - WiE
R
(2) 7 ¥R — B8 AR — Hisd ad — B

Foy Sagar PR
(3) Foy Sagar - Mandal Tal - Fateh Sagar - (3) Wi 9K — Wieel et — a6 @R — 17
Gaib Sagar R
(4) Mandal Tal - Foy Sagar — Gaib Sagar — (4) miee e — B ¥R — 9 ¥R - wg
Fateh Sagar R
_ (5) Question not attempted (8) argaRa W
75. *Desentifi and Land Degradation Atlas of  75. “fRa &1 Howcaw™ @ 4 g
India-2016" has been published by - Teaa-2016" & WaRM s gr fear mar
(1) ISRO () NRCAH (1) ISRO (2) NRCAH
(3) NATMO (9) CAZRI (3) NATMO (4 CAZRI
(5) Question not atiempted (5) srgafRa we
\\3" - Page 16 of 32
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76. Which of the following Geographer/s is/are
associated  with  the  Principle  of
Uniformitarianism?

(A) Hutton

(B) Playfair

(C) Lyell

Select the correct answer from the code given
below -

Code -
(1) Only(A) (2) (A)and (B) only
(3) (A),(B)and(C) (4 (A)and (C)only

(5) Question not attempted
77. Who among the following Roman Geograpt
Jargely contributed in Physical Geography?
(1) Strabo (2) Solinus
(3) Polybius (4) Firmanus
(5) Question not attempted
78. In which yur the Brundtland Repoﬂ rr.!md to

inable develop was f
(1) 1985 2 198 - e
(3) 1988 4) 1987 158

(5) Question not attempted

9. Clouds that are usually formed either by loss
of heat or by the mixing of air masses with
different temperatures, are -
(1) Stratus clouds (2) Nimbus clouds
(3) Cirrus clouds (4) Cumulus clouds
(5) Question not attempted

80. From given points related to rocks, select the
correct statements from the code given below «
(A) Igneous rocks are primary and crystalline

rocks.
(B) Locss is a scdimentary rock and is
- crystalline.

(C) Marble is a metamorphic rock.
Code -

7. Prefafi A ¥ wE/S e

ETRR @ R § Wi &/8
(A) ®&
(B) W
(C) &=
1 fog T 7 A T SR @ Tw I -
@_
1) ¥ (A) (2) Fae (A) 91 (B)
@) (A), (ByTN(C)  (4) Tt (A) T (C)
(5) argefa v
7. Prafafaa A cpedemil 3 A R
e st Hie e § ar?
) ga (2) Bfer=
() diehfams (4 f5wara
(5) argafa W=
nmmmimmﬂq\é
A ad wega 9 T o
(1) 1985 % 2) 1986 %
() 1988 % 4) 1987 %
(5) FaRa W

ﬂ-m S WEEE W o SeT @ wE @
ST AT 9§ SEEE @ S

:‘iﬁﬁasﬁi’aﬂas TE-
) wrd i (2) ut 3w
(3) wmT W (4) i 3
(5) srgaRa v

80. wErl % W Ry gt A A, A R
T T | W SN B A BN —
mmmmammm

(B) a\mwmmemwm
© mﬂmwmﬁamal

T -

(1) Fa= (A) T (C) (2) Baa (B) &A1 (C)

(1) Only(A)and (C) (2) Only (B)and (C)
@) (A), (B)and (C) (4} Only (A) and (B) @) (A).(B)TUT (C) (4) Faw (A) T (B)
(5) Question not attempted (5) arqafta W
1. Which one  of the following pair 81 Pr=fafra % 9 Fen g (3 - &= &)
(Country - Oil Field) is not correctly matched? gifea 7€ &
(1) Iraq - Qatif () & — Tdw
(2) Saudi Arabia— Ghawar (2) | 3@ — 9N
(3) Iran - Gachsaran @) |/ — TR
(4) Kuwait - Burgan ) wa - o
(5) Question not attempted (5) armia we
©32-% Page 17 of 32
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82. S;ncp-llopc of V-shaped valley is an example B2 §_grar & oré) a1 T IS SAET & —
of -

. . ) srufs g @ Q) g @ B
(1) Primary sl (2) Tentiary sl q@m
3) Sm:galyusl:)pe (U] inl%ryqulcopc @ s g @ @ iy
(5) Question not attempted (8) sgafta s
83. Wentworth scale is related to - 83. Fegyd wyw WA -
(1) Wind velocity LiE (1) ya= A B
(2) Hardness of rocks H (2) wgFl 2 TR A
(3) Grain sizc of sediments (3) aeve B Toll & WIR A
(4) Tidal range @) wrdy & R
() Question not attempled (8) argafa wer
84. Banjari and Laxmi of Jaipur district arc mining ~ 84. SIqY Rr @ dwrd) e el @A 84/ T
arcas/mines of - & -
() Gypsum (2 Silver ) Roreas @ (2) ey B
(3) Mica (4) Dolomite (9) v @ () irge N

(5) Question not attempted

) 15) srgmfa s
85. Identify the marked part in the following 85 v @ wueai @ Prefata i@ ¥ sifea
di of fault's and match it with ATt B T AR ok g A o I @
the list given below - R e —

(i) Throw

@ Dip i o

}:':)l m\fe (iii) wreddg
e (iv) =1

() (A)-Gii), (B)-G), (C)-(ii), (D)Hiv)
@) (AR, (B)H(Gii). (C)-(iv), (D))
@) (AG). (B)ii), (C)-iii), (D)Giv)
(4 (AXGv), (B)-G), (C)Gi), (D)-(iii)
(5) Question not attempted
86. The main cause of existence of Doldrum beltis-  86.

M) (A)-(iii), (B)-(i), (C)-(ii), (D)-(iv)
@ (A)-(ii), (B)-iii), (C)-(iv), (D)-(i)
@) (A)-(i), B)-(ii), (C)-(iii), (D)-(iv)
@) (A)-(iv), (B)-(i), (i), (D)-Giii)
5) sl v

Ea; IP:‘ I.;is in cold regions (A) na?v@a‘m i ﬁ?ﬁgf bl

igh lemperat d low ai GIeGic]
(C) Windis cg‘l:l'n‘ l‘::ca:ms:’:fa;;'”u:::m ((B:) g:wmm s Ay
Sclectlh:mrmclansw:rfmmlhecodegiv:n © T3 MR Vel &
below - QU 3 | T IR @ w A -
Code - g

(1) (B) and (C) are comrect
(2) (A). (B) and (C) are correct
(3) Only (A) is correct

1) (B) T (C) wE &
(2) (A), (B) @ (C) v £

@) 377 (A)FE 2
(4) (A)and (B) are correct @) (A)Tem (B) @ &
(5) Question not attempted (8) i W
322-% Page 18.0f 32
." ]:' .

87. Off-shoring activity is related to -

(1) Dataprocessing  (2) Transport

(3) Space (4) Tourism

(5) Question not attempted

88. Which one of the following is not an approach to
Human Geography?
M P Jernism in Geograp
(2) Spatial Organisation
(3) Regional differentiation

(4) Map Projection
(5) Question not attempted
BS. Which is suitable for prediction of weather?
(1) Median @) Mode _
(3) Mean (4) Standard Deviation

(8) Question not attempted
90. Which of the following book's approach is
deterministic?
(1) Principes de Géographie Humaine
(2) Geography and the Social Science

87. git—yifer foffy wwifa & -
(1) aftwgt oy (@) aRaes |
S i

() aRea A
(5) argafa wet
8. Prfafers 4 & o gm wF@ pha @
wqTH w27
() spira A IR s
@ wnfys wen
@) & =
®) wE=frs e
(8) argaRa we
89. shrem 1 wfymarfl & fog Sugaa € -
(1) mfeaam 2) 7gew
3) wre (%) e famem
(5) srgafia wet
%0. frafafaa # 4 fva g @1 gfeam
Frromard &7
) fifivirer & S g
(2) Sl gve & dRiE E@Ee

@) i A

(3) Anthropogeography @ iR
(4) Geographical Introduction to History @) somfred grsar T e
(5) Question not attempted (5) srqafta o
91. Match the following and sclect the correct 91 Fy=ifafaa @t ifera S aun @ Ry v
answer from the code given below - m_z%'ﬂflaﬂ'{isrmaﬁﬁﬂ—
Agro-Climatic Zone  Soil Type STearg
(A) AridWestemPlain (i) BrownRedRocky .., (A) t‘:m ::—r @ f:!;%aﬂz ;i‘l:“'c'lﬁ
(B) :,rl:ig:tud North-West (ii) Black @) iza TR-feE (i) TR
) St DDRBR ) e iy
(iv) Sandy
(E) Humid South-Eastern (v) Alluvial (D) 3t A AT () ¥l
Plain (E) o 2Bwi—gdi #gm (v) Felle
Code - =® -
M) (A, B)iid), (C}-(v), (D)-(i), (E-(iv) M) (AX(ii), (B)-(iid), (C)-(v), (D)) (E}-(iv)
(2) (A)-{iii), (B)-(v), (C)-(i), (D)-(iv), (E)-(ii) (2) (A)-(iii), (BX(v), (C)-(3), (D)-(iv), (E)-(ii)
() (A)(iv), (B)(v), (C)-(i), (D)iii), (E)-(ii) @) (A)v), (BY-(v), (C(i), (D)-(ii), (E)-{ii)
4 (A)(i), (B)-Gii), (C)-(iv), (D)-(ii). (E}-(v) 8) (A)-(i), (B)-(iii), (C)-(iv), (D)-(ii), (E>-(v)
(5) Question not attempted 8) sgaRa v
32.-%
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92. Match List-I with List-Il and select the correct

answer from the code given below -
List-1 List-Il
(Candolle Plant (Koppen Climate
Classification) Classification)

(a) Mesotherms i) A

(&) Megatherms (i) B

(c) Microtherms (iii) C

(d) Xerophytes (iv) D

Code -

1) (@)-Gi), (b)-Giv), (C)-(l)- (d){ii)
(2) (@i, (o)) (e)-(v), (d)-(i)
@) (@)iii), ()-Giv), (e)-(0), (d)-(ii)
@) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
(5) Question not attempted

93. Which of the following ocean current system

sequence of South Atlantic Ocean is correct?

(1) West Wind Drift - Brazil Current - Benguela
Current - South Equatorial Current

(2) South Equatorial Current - Benguela Current
- Brazil Cument - West Wind Drift

(3) Benguela Current - Brazil Current -
Equatorial Current - West Wind Drift

(4) South Equatorial Current - Brazil Current -
West Wind Drift - Benguela Current

South

92,

R L o o
E?-m a;;:ﬂ w8 TR T 9w G -

pnd i

w

Tf wiiee) g S
{a) *reirnd 0 A
(b) merd (i 8
(c) wrEmwnf (i) €
(d) SRwrE (iv) D

() (@), ©)-Giv), (€)-(D), (@)-(ii)
(2) (a)-Gii), ()i (c)-(iv), (d)-Gi)
(9) (a)-Gii), )-(iv), (€)-(0), (-G
(8) (a)-Gi), (b)-(i), (c)-(iv), (i)
8 aRa v

93. 7Rl wrewifes wEwTR @ Prefefed # |

F0 o g e W T
) e T waE - A O - S

e TR — Sfted AT waTE

) ¥Eer am - ARAE O - 3Rm
spreaved aw — uRE Ty e

(@) TR R g - A e -
uftedl ary warE — de U

(

96. Result of differential crosion are -

96. Rty sqwes o1 giom & —
(A) Structural Benches fifeen

(A) HOEAIGIS

(B) Mushroom Rock (B) v=w e .

(C) Incised Meander (C) smpfia fed

(D) Demoiselles (D) &=

Code - e -

(1) (B)and (D) (2) (B) and (C) (1) B) R (D) 2 B)3R(C)
(3) (A)and (C) () (A) and (D) @ WaR© 4 (A)3R (D)
(5) Question not attempted (5) arqafa W

97. In asymmetrical frequency distribution, the  97.
correct formula to express the relation between
- arithmetic mean (X) , mode (Z) and median (M)

Foufm aawan e ¥ w9RR SRg
), & (Z) Ta MEgE (M) @ 9 F="

is- WET TR T 0E A E —
() 3 2M2 @ y= 3!41 ; (1) gz @ = =!+z
3
() z=3M-2% ) z=2M-3% M Z=3M-2% @ Z—ZM 3X
(5) Question not attempted (5) FrgaRa wet

8. If the statement of scale is 1" = 2 Furlongs, then - 98. 7f

Ife FAFE AUF 17 = 2 GalT B TAEE
what will be the RE.?

¢ o sfafaf Br= (RF) & —

(1) 1:15840 (2) 1:16000

(1) 1:15840 (2) 1:16000
(3) 1:14000 *{4) 1:15240 (3) 1:14000 (‘) 1:15240
(5) Question not attempted (5) srafia v
99. Which one of the following (Book - Author 9. Pt aﬁw (T — @) Jhfm
not correctly matched? g preds w1l 87 el )

(1) Air power : Key to Survival - D. Seversky
(2) Development in Political Geography —
A. Bumneutt

(1) TR 9R : A g WA — . AR
(2) Iawie 7 dfefeas < - ¢ wfe
) The New World - Isaizh Bowman @) 3 3 7 — TARE A
(4) The Corridors of Time — H.J. Fleure () T FIRERI st g — Taa. w@R
(5) Question not attempted 5 o=
100. “Movement involves a change of residence for

3 100. "5ard @ WA WY @ Frara
(5) Question not atiempted () sigafa we substantial duration”, who among the following e weem &, 78 &qmﬁqﬁmﬁ
. World map of Claudius Polemy was drawn on 94 Teiffegw 2forft @1 fawe wfom i wég m stated this? vae fHET 82
which projection? T T 9T ‘(;; g"\;"p ay, (:) Berklay Es:f (1) e @) =
(1) Modified Conical e 1) WYIRE YRR ®) Q;.eéusrﬂgﬁxmp:e; rromriaion, g ;élaﬁa ol 0 Fropee: s
(2) Polyconic I (2) agrigrd 101. Which one of the foll Ocean - Is] 101, Pyt BT (e
(3) Cylihdrical Equidistant (3) ITTER TG is correctly malch,e(:l eg gl D) w2 13 = . - @)
@) Cylindrical Equal-area @ TR W A A s WRTR - gm
(5) Question not attempred (5) srgaRa e (B) Arctic - Beax :Q,’ m L ﬁ
95. According to Census 2011, in which district of 95+ TFTVAI 2011 B THR, YWY B R frett {g’) :,”i‘:‘r',‘c - 'é:_gn“'m (©) R= - ¥
Rajasthan the Rural and Urban sex ratio is ¥ e TP 3 TR R i 87 Sele . (D) WA =
highest respectively? (1) st — g belu:: }he correct answer from the code given ._ﬁ,; fag g 7w .ﬂ_gag:ﬂ w1 T AR —
(1) Bhilwara — Chittorgarh 2) TRR — T Code - e -
(2) Dungarpur - Pratapgarh g, (1) (A), (B), (C) and (D) (1) (A), (B), (C) ¥ (D)
(3 Pali - Tonk ) vl (@) (A), (B) and (D) (2) (A). (B) 7@ (D)
A _B (4) xroraHE — g (3) (B), (C)and (D) (3) (B). (C) W (D)
(4) Rajsamand u::‘“‘“ ®) srgRa W (4) (A)and (B) 4 (A) T (B)
(5) Question not attempted (5) Question not attempted (5) srpafta we
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106. Debris controlled slope is called -
(2) Concave slope Plids

102 I India, thematic maps are preparcd by -
(1) Remote Scnsing Agency, Hyderabad
(2) Survey of India

3) Thematic Mapping of India

(4) NATMO

{5) Question not atiempted

103. Which of these is an Equal Arca Projection?
- (A) Polyconic

(B) Bonne's

(C) Sinusoidal

(D) Polar orthographic

Code -

{1) (A)and (D) (2) (B) and (D)

(3) (B) and (C) (#) (A)yand (C)

(5) Question not attempted
104. Which of the following is truc about arithmetic
mean?
(A) Docs not depend upon all values of a series.
(B) Suitable in correlation method.
(C) Obrained value is in both decimal and full

number.
(D) Suitable for
percentage.

Code -
1) (B) and (D) (2) (B) and (C)
(3) (A)and (D) {4) (A)and (B)
(5) Question not attempied

ion and

JHIE PP

105. *Radiosonde’ instrument is associated with -

(1) the study of surface of the Earth

(2) the study of atmosphere

(3) the study of interior structure of the Earth
(4) the study of ocean

(5) Question not attempted

(1) Convex slope
(3) Rectilinear slope ) Free face slope
(5) Question not attempted

. 0 (A)wE(D)

102, 3, frvas W s g AR Y

i &7

(1) e A goldd, daTArg
(2) wedfra wdwor o

@) ifRa A afw gfm
(4) =Tes (NATMO)

(5) arafa we

103. g7} & @ womrT Wi #7

(A) TgTig®
(B) ¥

- (C) wrggHtEsa

(D) gl sashg

(2 (B)E (D)

() (B)wE (C) ) (A)YE(C)

(5) argaRa e
‘“ﬁmﬂg ¥ | e Wi e % A A
wwa #?
. (M) *aen & wh e W Pel T e
(B) weway Ry § ¢
(©) ;mﬂﬂm oot s < A e
I
(D) ¥ua R wRva & samm @ fw
FugE &1
af.z_.
() B)vE (D) @ B)WE(C)
@) (A) W@ (D) ) (A)wE ®)
(5) srufa W&
105. Yf¥eini~s" Sy e & —

() vt & R @ anmmE |
() TrgvEa & anaud |
(3) gt @ sl e & o W

4) e oRgET W
(5) argafta wel

Aik 106, s Frfia are o & —
(1) It o1l ) T @
@) v W e (4) a e I
(5) argaita we

107- According to Weber's Least Cost Theory, the 107 3% @ =ywat @mra fRigia B TR, "9 TR

formula of *Labour Cost Index’ is -

(1) Labour cost = Total weight of raw material
(2) Total weight of raw material + Labour cost
(3) Total weight of product + Labour cost

(4) Labour cost + Total weight of product
(5) Question not atlcmpted

HYAE -
) #m @0 + T 9Ed o g AR
(2) = ward o7 T WK < 5 T
@) seafea a%g @ I AR + 4 A
() sm AT+ SR avg @ @ HR
(5 ﬂﬂtlﬁ(lm hai

2.8

IS
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108,

109.

110.

As per Weber's Least Cost Theory, if both the

raw malerials are away from market at a fixed

place and both are pure, then the industry shall
locate -

(1) According to location-triangle

(2) Both (near market and raw material)

(3) Near raw material

(4) Near the market

(5) Question not attempted

Which statements are true about Earth's interior?

(A) Helps in understanding Earth landforms.

(B) Temperature rises with depth at the rate

of 1°C/32 meter.

(C) Shadow zone of ‘S* wave is less than ‘P’

wave,

(D) Meteorites that reach the Earth surface are

indirect source of information,

Code -

(1) (A),(B)and (D) (2} (B),(C)and (D)

(3) Only (B)and (D) (4) Only (A)and (B)

(5) Question not attempted '

Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R).

Assertion (A): India’s export of finished
steel declined during the year
2024-25.

Reason (R): Low prices of steel in
international market resulted in
low margins on exports.

In the above context, which one of the following

is correct?
(1) (A) s false but (R) is true '
(2) Both (A) and (R) are true but (R) is not
correct explanation of (A)

(3) (A)is true but (R) is false

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A) *

(5) Question not attempted

108. 3y @ =p7am AR Rl @ ok, af A

we A R 9 R Fften = w® aw g
& ok <Y g &, o sei 9w B -
) safafr-frgs & sgey

(@) =Pt (R T we W @ )

() 7= 7 @ Prae

@) TR @ frae

18) agefta v

109. gy o il w07 & A W T wW
o 3

(A) A N gl B wHEE ¥ Aeg S
H

(B) TEVE @ W WOAM 1°C/32 Hier & =
W T # |

(C) 'S’ TR @1 OR &F PRI | &9 BN
] .

D) FA & W | 9 I Seaids
WA B s wa g

'b:e_

M (A).(B)%E (D) @ (B).(C)WE (D)

(@) 37w (B)Td (D) (9 Fa (A) T (B)

(5) srgefa we

0.4 3 7= Ry 7 2, 1@ & au (A) iR

T B RV (R) S w9 A qutar m
T (A): T 2024-25 B IRE ARG & AR
T @ Fafa 3 &0 ang)
TR (R): FRET ToR 4 a8 A a9
Bl & w7 ot 1 aniT an
& T
SR wed #, Frefafim F @ 3 o
®
(1) (A) 7o @ afF R) w6 2
) (a)Ten (R) ST wE & AFT (R), (A) P
wE e T &
@ (A) W & IfFT (R) T &
@) (A)aar (R) [t W& & T (R), (A) B 7@
e &

(9) sqefa v

32
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111. Consider the following statements and select the
correct answer from the code given below -
(A) Karbi Anglong is a part of Peninsular
Plateau of India.
(B) Indian desent region was under sea during
Mesozoic era.
(C) Eastern Indian coast is favourable for
development of port and harbour.
(D) Ritchie’s Archipelago is in Arabian Sea.
Code -
() (B).(C)and (D) (2) (A)and (B)
) (B) and (C) () (A). (B) and (C)
(5) Question not attempted
112. Which among the following is a town of

Mesopotamia?
(1) Thebes (2) Fostat
) Kahun (4) Ercch

{5) Question not attempted
113. In which census year, information on causes of
migration was included in India?

1) 1881 @) 1981
Q) 1971 (4) 1961 '““’:"'
{5) Question not anempted LN

114, Absolute humidity 4
Humidity capacity ** 100 is called -
(1) Saturated air (2) Specific humidity
‘3)“" idi (‘)n'~; --l
(5) Question not attempted
115. Match the following Scholars according to their
respective Books and select the correct answer
from the code given below -
List-I (Book)
(A) An Outline of Geomarphology
(B) The Unstable Earth
(C) The Surface History of the Earth
(D) Eanh’s Dynamic System
(E) Pnnciples of Geology

(M I Joly

(II) J.A.Steers

(1ll) Woaldridge and Morgan

(IV) G. Waters and Woodford

(V) W.K. Hamblin

Code -

(1) (A)-(IV), (B)-(I), (C)T), (D)-(V), (E)-{IIT)
2) (A)-(L). (B)-(111), (C)(T), (D)-(V), (E}(IV)
(3) (A)-(II), (B)-(11), (CCHI). (D)(V), (EXIV)
(4) (A)-(LI), (B)-(TI). (C)(T), (D)MIV), (E)}(V)
(5) Question not attempted

11, frefarfir arel W AR R e A R
M e @ S wYs wE ST P uET

(A)w;?whmhwﬁwuﬂmmm
firem
(B) m:mﬁ @+ v R TR &
o
(©) g‘m;‘zmewmmm#
Ercaid]
(D) Fsh g ara wrw ¥ &)

= - .
(1) (B).(C) W (D)

(2) (A) @ (B)
3) (B) W@ (C) @) (A), (B)TI(C)
(5) srqafta wwA
V2. Pr=fafaa § | @t st 7 A 82
) &= 2 gwe
) @157 [ORE}
(5) srgaRa we

3310 A warg & e a2 gam a
ST A § v

(1) 1881 (@ 1981
@) 1971 (4 1961
5) argafia wea

", ::;':_":'1 100 FEelrar & —
M) < arg © (@) Rfre s
3) Pl andan (4) wmfds s
(5) argafte weA

V5. Pafafag Rt & e wefua e
Ffera Ffom aur - Ry g 3 |/
9eR & "7 B —
-1 (3%7)

0 =i sifelr

() @i =l

(1 am(? whfa
(1v) 1. e gewrd
(v) T @, e

T —

(1) (A)(IV), B)(ID), (C)(1), (D)-(V), (E)-(11T)

(@) (A)-(1), (B)-(11D), (C)-(1), (D)-(V), (E}(IV)

(ri: (A)-{g:). (g)-(lé). (C)-(D), (DY(V), (E)-(IV)
(A)-(LID). (B)-(II), (C)-(1), (D)IV), (E;

o <l (IV), (E)}(V)

,32-%
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116. As per Weber, a line of equal transport costs for
any material or product is called -
(1) Location-Triangle (2) Isodapane
(3) Critical Isodapane (4) Isotim
(8) Question not attempted
117.The districts included in the Agro-Climatic
Region [11-B of Rajasthan is -
(1) Alwar, Bharatpur, Dholpur
(@) Jaipur, Ajmer, Dausa
(3) Kota, Jhalawar, Baran
(3) Bhilwara, Rajsamand, Chittorgarh
(5) Question not attempted
118. The Department of Soil Survey in India was
established in -

(1) 1953 (@) 1960
@ 1954 (4) 1956
(5) Question not attempted
119. Consider the i s regarding
Carl Ritter -
(a) Teleological views
(b) Anth ic view of geography

(¢) Supporter of the Reine geography
(d) " The concept of Landerkunde
_Select the comect answer using the code given
below -
Code - Y
0 @ Oad@d @ @mde) ™
(3) Only (a) (4) (a), (b) and (c)
(5) Question not attempted
120.Chambal 65 and Mangla are high yielding

variety seeds of -
(1) Wheat (2) Jowar
(3) Rice (4) Bajra

(5) Question not attempted

121. Which of the following Landform is not formed
by running water?

116. 3R & s, 50 o wert a1 e ¥ W
aftaes @ @) T sEend € —
) spfef-Pem () sngwiema
) mifkre amgwerA () amgRifen
(5) argefie we
M. yorer & p-waarg w2w -8 ¥ wfufed
Rt &
(1) s, waq, hagy
(2) sage, R, &
(3) Fie1, wemaTs, AR
(4) rarer, wwewe, fademe
(8) srafta o
118 sy 3 sy eyt Rarr o e @ g o?

M 1953 % (2) 1960%
@) 1954 % (4) 19569
) agafta g
119. 37ed Rex & wat # Pr=ifesfire weet = Rar
R —

(a) Fvw Stymard R

(b) e F wrE-atEm gl

(©) = pira & wRis

(d) e N I@EREn

M A T FE A wEwa @ wH TW B

e Piferg —

) (a), (o) 3R (d)

() @ad (a)

(8) arafa we
120. gre 65 AT WTEN Se 39 39 At e B

i & -

(@) (a) 3z (b)
4 (a), (b) 3 (c)

o A S (2 =R &
(3) e & (4) T B
(5) srgafta we

121. frafafe A @ S sg-ampfa waifta @
T fafif e &2

(1) Canyon (2) Tam Lake ) Sfys (2) = s
(3) Plunge Pools 4) Gorge Q) s g (4) irsh
(5) Question not attempted 18) srgefta wm
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122.The comect group of Geographers who

ibuted to the d of Unified Field

Theory is -

(1) S.B. Jones — D. Whittlesey — Hartshome -
Gottman

(2) Thayer Mahan — Mackinder - S.B. Jones ~
Spykman

(3) Demanzia — Karl Haushofer — Ratzel -
Kjellen

(4) S.B. Jones - Cohen = Richard Moore —
Carlson

(5) Question not attempted

123. Mangalam Cement Limited is located in - 3:..-.'1
(1) Modak (2) Dholpur .
(3) Bhiwadi @) Alwar

(5) Question not anempted
124, Which of the following objectives is/are related
to the New Population Policy-2000?
(A) To provide compulsory education to
children upto 14 years of age.
(B) To reduce pregnancy related female
mortality rate to less than 100 per lakh.
(C) At least 80% of births should take place
within hospital premises.
(D) Bringing the total productivity rate to the
replacement level of 2.1,
Code -
() (A), (B), (C) and
(D)
() Only (D) ) (A), (C) and (D)
(5) Question not attempted
125. “A race means a breed, not culture” .anmong
the following stated this?
(1) Vidal de laBlache (2) AR. Kroeber
(3) A.C.Haddon (4) G. Taylor
(5) Question not attempted
126. Write the comect sequence of main cities of
Trans Canadian Railway from East to West -
(1) Vancouver - Winnipeg - Quebec - Halifax
(2) Quebec - Halifax - Winnipeg - Vancouver
(3) Halifax - Quebec - Vancouver - Winnipeg

) (B), (C)and (D)

1&;\,%@%?‘:%*““3“*

e s @1 e W & -

) i, i - B, Rl - B -
Tieda

@ unR T - AR - Edl @ -
WEHH

(3) Srvifdrar — @l AR - Yeud - FoieA
() wad o - P — Red | - B

(5) agaRa s

123, vjem Wi fafies sfted & -
M ez ¥ @ e ¥
@) frart ¥ (4) arer #
(5) st w&

124. Praffee § § g/ e 7 o
+ifd-2000 ¥ iy & /&
(A) 1478 &% & 7=l ot e fEn wee

A

(B) wiEwn ¥ wilw WA R #®
- 100 ufy o | T% |

(©) = A 7 80% v 1 fafaradl )
oRfY % ==t T |

(D) &3 IUEFA T H 2.1 P WRRINT TR
wE A

a&?—

1) (A),(B), Q3R @) @ ®),(C)3R(D)

(3) Haa (D) @) (A), (C) 3R (D)

(5) srqafa we

125. g 7%t Y wpe el 2, 1 [ g

g Fu= fAmfefa ¥ @ femer &7

() e S & @ (A TR DR

(3) g g=A (4) & TR

(8) sraRa we

126. 77 FAfeT Yot & wpa AN @ @ R

uftem @ iR e g o -

(1) B — R — aqiw - &fbe

@) wgs - b — RfG - fam

@ B — agiw — dom - Rfwm

(4) Halifax - Quebec - Winnipeg - Vancouver (4) eferdaw — aqie — ﬁﬁ'ﬁ' Lo
{5) Question not atiempred ® aRa wE /
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127.Which one of the following pair
(Minerals - Mining Area) is correctly matched?
(1) Petroleum - Lunej
(2) Coal - Bassein
(3) Iron - Singrauli
(4) Bauxite - Gorumahisani
(5) Question not attempted
128. Match List-I with List-Il and select the correct
answer from the code given below -
List-I
(Type of Faults)
(a) Sinistral Fault
(b) Reverse Fault
(¢) Normal Fault
(d) Dextral Fault
List-I1
(Displacement of Rock blocks)
(i) In opposite direction
(i) Occurs to the left side of the fault plane
(iii) Towards each other
(iv) Occurs to the right side oflhe fault plane
Code -
1) (a)-Gi), (®)-(i), (e)iii), (d)-(iv)
(2) (a)-(ii), (b)-(ii), (c)-{i), (d)-(iv)
() (@)-(iv), B)id), (€)-(0), (d)-(ii)
() (@)-(iv), B)-(i), (c)-(iid), (d)-(ii)
(5) Question not attempted
128. Which of the following agriculture region is also
known as “heart of world's wine industry™?
(1) Commercial Plantation Agriculture Regions
(2) Sugarcane Producing Regions
(3) Commercial Grain Farming Agnmllum
Regions

127, Prefifirs % @ T g (@ — @ &)

wé gferr 87

1) tfem — g9

(2) wraen — AR

(3) o - Rdeh

) immge — MoAREE
(5) arqafta we

128. 31 Y -0 @ W e w AR AR

WU

A

g T g § wh TR T oA W -
bicia]
(w0 3 W)
(a) Ffreger W
(b) w3
(c) &= WO
(d) SFgd ¥U
-
(da @vet =1 fawng)
(i) fawd famm &
(i) wor o B a) SR B @
(iii) U g B AFF-ATH
(iv) %% e @ Tl i g &
iz -
0) (a)ii), (), ()-(iii), (d)-(iv)
() (a)(ii), ()-{iii). (c)-(i). (d(iv)
) (a)-(iv), (b)-(iii), (c)-(i). (A)-(ii)
() (a)-(iv), (b)-(i), (c)-(iii). (d)-(ii)
(5) aafta

129. frfefer o @ b oft wem R @

YRA/AEA SO B gEU B WA N wE
8?7

() Fffas Il S w3

@) T SRS Toa

) afnfers sFe @) S FiR v

4) Mediterranean Agriculture Regions (4) s T wEw
(5) Question not attempted (5) :ngﬁﬁa T
130.The propounder of “Stop and Go Determinism™ 130 “%&) 3wl frafare @ i o -
;?Lm (2) E. Hunti 0. g
vre . Huntinglon " "
@) EC.Semple (4 Griffith Taylor O & ¥ 9, e e
(5) Question not attempted (8) SR W
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131. Which of the following group of states recorded
decadal population growth rale below 10% as
per Census 20117
(1) Goa and Punjab
(2) Goaand Kerala
(3) Himachal Pradesh and Sikkim
(4) Kerala and Sikkim
(5) Question not attempted

132. Which one of the following states receive flood

during winters?
(1) Kerala (2) West Bengal
(3) Tamil Nadu (4) Andhra Pradesh

(5) Question not attempted

133. Aparnt from Weber, which other Geographer
presented locational triangle for industrial

location?
(1) A. Fetter (2) Hoover
(3) Isard (4) Smith

(5) Question not anempted
134. Consider the following statements and select the
correct answer from the code given below -
Statement (A): The concept of differential
heating about the origin of
Indian monsoon was given by
Halley.
The concept of differential
heating explains the origin of
Indian monsoon.

Reason (R):

Code -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) (A)is true but (R) is false
(3) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
({4) Both (A) and (R) are false
{5) Question not attempted
135. Hellenic plate is located at -
(1) Alaska and nearby arca
(2) Mediterranean Sea and nearby arca
(3) Norway Sea
(4) Gulf of California
(5) Question not attempted

'1,25,51
s

135. 33w e o & -

. Prefafeaes 9 R
T e et o < 1030 4
w9 aifta Tf?

(1) Tivar &R o

(2) i o B

3 fmoe ww o fifen
(4) e iR fofemn

(5) argfa we

132, Prefarfem & 3 fave wow ¥ il § @ o
&

) I (2) qf¥mm @nd
() afvamrg (4) a1 wen
(5) el o

13, ey & s, o e spiveden 3 shaifs
Imftufy @ R oafufy P wege R
) T vex @ g
3) g (@) f
(8) srgala we

134, freify e T R AR T A RA
T TE ¥ §E ST g -

TYA (A): WRA WA @ Sl B T
4 afm v @ siwea T &R
& @ ot

TR (R): @i fes @1 dae Wi
A A IR B s 2

(1) (A) T R) 2F B & R (R), (A) 3 )
e @ ¢

@) (A) T & frg (R) Tem &

3 (A) @ (R) AT w8 # fg (R), (A F
i e T Hea &

8) (A)er (R) 2T o &

(5) srgafta v

(1) ST TR TN @ &7 Y
(2) * FPR T SN @ &7 %
(3) =f§ wrr 3§

(9) e ) @l A

(5) araRa we

136.P. Sengupta and Galina Sdasyuk divided India 136 ), Jeqea aven AefT Tregqe 3 wia Y Roerd

into how many major resource regions?
L ) @9
36 @5
(8) Question not attempted
137. Which of the following school of thought is also
idered as ‘Biography of the landscape'?
(1) Existentialism (2) Pragmatism
(3) Positivism (4) Realism
(8) Question not attempted

138. Vilas and Lasi are tributaries of -
(1) Kothari (2) Chambal
(3) Parvati (4) Kalisindh

(5) Question not attempted
130.The rocks of the Hamada desert region of

Rajasthan belong to which of the following -

geological periods?

(1) Oligocene and Miocene Periods

(2) Cambrian and Ordovician Periods

(3) Carboniferous and Permian Periods

(4) Jurassic and Eocene Periods

(5) Question not attempted

140. In Fenneman's “Circumference of Geography™
which of the following was not included?

(1) Biology (2) Geology

() History (4) Physics

(5) Question not attempted

T41. Assertion (A): Post-Validation is an important
. step in the computer assisted
learning process.

Reason (R): . It helps in making comections
before  implementing  the
computer assisted module.

(1) Both (A) and (R) are true but (R) is not the

correct explanation of (A)
(2) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
" (5) Question not attempied

aa

W.opfafaa 4 @ fre o @

wo@ wawA wewl A v R ar
W7 @9

@6 s

(5) Frgafia we

g T A ARk N A w27
1) wficeaarg (2) St
(3) geaemarg (4) gorfarg
8) Fafta we
138. fymms e W At & —
M) Fa@d A (2) s B
3) ot < @) TR i A
(5) arafta v
130 3o & T WeRad e B 9
forfafaa # & frm it wm & &

(1) siferiiE @ TERm T
(2) $ftam 7 siteifRfimT &
() FrEitevE g o oe
) Sl 7 WA B
(5) Igafta wa
140. gt 3 i B O F Preafafea 3
et wfsfea 78 ar
(1) Se-fsm @) w-famm
@) sfEm @)
(5) sgafta v
Whoem (A wwa—mfEm  (re-3fReE)
TR WEAE I ufka @
F wEEq oW # .
T TR WS Hage F @
T A TEd SEH gOR &
HEE B 2|
() (A) 3R (R) BT w8 & @ (R), (A) D
wé a7 T &
(@ (a)3R (R) 2 Wt & 3R (R), (A) B WA
o R
@) (a)we R S (R) o @
() (a) e & Afds (R) W R
(8) argaia we

TR (R):

32-%

Page 28 of 32

2-%

Page 29 of 32

(¥ scanned with OKEN Scanner



142. Which of the following statement is not comect
about the social system of Concept Attainment
Model?

(1) The model has moderate structure.

(2) The model is relatively structured.

(3) The student controls the sequence of phases.
@ i jon is d

(5) Question not attempted

143. Which of the following step is not part of the

system approach in instructional design?
(1) Identifying objectives
@ ing rand hing method
(3) Designing leamning experiences
(4) Evaluating effectiveness
(5) Question not attempted
144, Which one of the following is not included in
non-projected teaching aids?
(1) Transp i @ Sp
(3) Diorama (4) Map
(5) Question not attempted
145. What is the main advantage of a Super Video
Graphics Array (SVGA) cord in computers?
(1) Increases the speed of intemet browsing.
(2) Enhances the quality of graphical images.
(3) Increases CPU performance.
() Reduces power consumption.
(5) Question not attempted

1.;.!

142, giyreq < WA A AR W @
R & Prefafta 4 ¥ @ Su W T
&
(1) wfwA R R TR 8|
(2) whtwr s Wi 81
) R T @ 7 @ Pl T E
(9 Rt smafsa 3 st R o 81
() srgals v
143, Py=ifafaa R srRveeTe atea (RO
¥ g o o s @ T 87
(1) Stwdl o wgum FA
@) argfos e Afd @1 w7 B
Q) wfvm el B sfvefema e
@) w1 i Tl
(5) srpaia we
144, frferfe 3 ) g R-ndtfr R weras
w3 wffer T @2
) g (2) =g
(3) SR (4) wf=
(8) argalta we
145. grvegey 3 guv A wibwE W (SVGA) B
TG WM w8
(1) Sevie aRfim @ Tf Tem #1
(2) Tiftvee fat 9 o § gaR Fea 2
(3) @7, o1 g wor )
(4) fasieh 1 avd w4 vl B

(8) argaia o
148. Which ofthe following sttement regarding the  146- 4% Tl & wicka S A St
Simasc apgeoach ¥ logyis et 4 4w v wh € &
not correct?
(1) s also called behavioural technology. ) 5% wERwa aeNd W e aw §
(2) It is characterized with task analysis, (2 Wﬂﬂ!ﬂ!ﬂaﬁ‘q‘tm"mﬁ@m
formulating _objectives  and  selecting afte il @ =7 9w §)
pprop @) 78 et & st vl @1 s
ﬂ)k:sﬂnmmhanmmnufmngmd "
leaming process.
(49) Psychological principles of teaching and “ M;;;::Emﬁ By g —
leamning are used in this. Rl i &
(5) Question not attempted (5) srgefia we '
2-% Page 30 of 32

"

e

ey Y. il

. Whlch of lhe following is not the Bmc
! g?

(|) Sludenl.l lhnuld be given oppomuny o
work peratively in
process.

(2) Students can leam effectively if they involve
fully with learning process and helping each
other on learning path.

(3) Evaluation of leaming should be measured
through achievement of each individual
learner.

(3) Evaluation of learning should be based on
what were the objectives framed for group.

(5) Question not attempted

148. What does ‘Netiquette" refers to?

(1) Online behavior and interaction

{2) Not using punctuations in messages

(3) Speaking loudly online

(4) Avoiding all digital communication

(5) Question not attempted

149. A teacher wants to apply Suchman's Inquiry

Training Model in a class. What should he/she

does firs1?

(1) Give a lecture explaining the content in
detail before allowing any question.

(2) Provide direct answer 10 student's questions.

(3) Ask stud to ize key
before the lesson begins.

(4) Present a puzzling situation or problem and
encourage students to ask investigalory
questions.

(5) Question not attempted

150. What is a primary application of Computer

Assisted Instruction (CAI) in education?

(1) Eliminating teachers’ role.

(2) Developing

13

W.ifafea 4 | avrl Wl afm @)
SR Al T 87

) Roffdl =1 Reva®m afewm 3§

e oM T B de fa @

=g

) Remdt T s FoR W e € ofy A
) ) ufa ¥ 0 e WA g B
mmgmwwm

@) s w TEe T FRTR H
syaflr w g Wi

&) e w1 [ @ @ W e @
ey & wE & wor afrm @ T wtw
Fifa @3 w9

(5) sEifa wE

198. Hfede o 7 ok #?7

(1) sifrenss @Eer d smafesm
@ m#mwﬁmam
) aitegs a1 A
®) wf wor 3 fefrea war § T
(8) wgafa we
143 v Rvre e i waia @ goot aRe wimm
; :\ﬁi:mmﬂm%laﬁaﬁﬁmm

) Rvgag = AR 3 W @ aem
- & 3R R BTt B e e )
(2) ot o1 373 well 3 W IR 9TE )

(3) T ® €F | IEd B W
g w3 & R wE -

mwaﬁaﬁuﬁmmm IR
al%wmmm*mﬁﬂa

(ﬂ:ﬁﬂﬁam
“‘mea@mmm)mma
FwE T

mﬁmﬂﬁ‘;ﬁmm\mml

self-paced leaming 1 w1l A den & TR o ek
programmes, {? Eaqul
(3) Replacing traditional books entirely. () greRE qEl B g0 TWE A q@e|
(4) Limiting * access to knowledge. (4) vl @ 9 9% 9ga o Qi Fe)
(5) Question not attempted ) saRa v
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